Answers

A.
Equity of income distribution is when income distribution is considered fair, equality of income distribution is when disposable incomes are the same.

B.
The curve is downward-sloping because, at lower rates of interest householders and firms hold more money in idle balances. As interest rates increase the opportunity cost of holding money in this form increases and they will hold less.

C.
At Qs MC is greater than MR and so it is not at the profit maximising level

D.
Property rights are rights to own, use, or sell something. Benefits accrue to owners of the rights. By establishing property how much right the towns people have to clean environment and what right s the mill has to pollute the environment, it maybe possible for the mill to buy some of the rights of the townspeople to allow them to pollute up to an agreed level. The externalities have been internalised and both the mill and the towns’ people are satisfied.

E.
The NZ market is too small to affect the world price so the rest of the world will meet NZ’s requirements at the same price.

F.
As resources are transferred from on good to another increasing costs or diminishing returns sets in resulting in a decrease in the increase.

G.
A budget surplus is a result of the governments income /taxation/revenue exceeding its expenditure. The net effect will be a reduction in banks reserves which will lead to a lead to a larger decrease in the money supply through the credit creation multiplier. The reserve bank could buy back government stock/repay debt on behalf of the government

H.
A ratio of export prices to import prices (both represented as an index with the same base year).

I
The petrol industry

· It has a limited number of suppliers, Shell, BP, Caltex etc.

· Differentiated products( services, advertising)

· Strong barriers to entry (cost of setting up)

· Non price competition (loyalty schemes etc)

· Possibility of price wars

J.
The terms of trade measures the export prices to import prices. If terms of trade improved due to an increase in export prices, quantity demanded as overseas could decrease. This could lead to a deficit on the balance of trade.

K
It is an interest rate set by the RBNZ that influences retail rates. An increase in OCR, increases the retail rates, increases savings and decreases spending and investment decreasing AD and decreasing inflationary pressures.

L
There will always be customers who wish to make a withdrawal. If the banks kept no reserves they would be unable to meet the customers’ requirements.

M
In the shorts run/ some inputs are fixed and therefore the firm is restricted in its ability to change supply/output levels. In the long run, all inputs are variable therefore the firm can be more adaptable and more efficient so supply is more elastic.

N
It will lead to a reduction in the value of merchandise exports which will produce a larger deficit on the current account.

O
Banks make loans to generate income through the interest they charge.

P
Given a fixed money supply, the purchasing power of money increases as the price level falls.

Q
Public goods are non rival and non excludable by price. This means that people can not be stopped from using the roads unless they have paid for them, and if one person uses them they will not disappear. The market will not provide them due to the free rider problem and payment  can only be effective through taxation.

